# MDAQMD ERC Sales Data for Carbon Monoxide (CO)

ERC Certificate 0005	<b>Sales Date</b> 2/5/2001	Qty Sold, Lbs/Year 76,097	CO Sales Price Per Lb \$0.00	Use Reference  Partially transferred (all but SOx) to Execu-Corp (Cert 0018) for \$250,000
0107	3/16/2018	338,000	\$0.00	Transferred to new owner, Panamint Valley Limestone in a package deal. \$100,000 for land & ERCs on Cert 112.

## MDAQMD ERC Sales Data for Oxides of Nitrogen (NOx)

Certificate Number	Sales Date	Qty Sold, Lbs/Year	Sales Price, per Pound	Description of Sales Transaction
0005	2/5/2001	53,489	\$0.00	Partially transferred (all but SOx) to Execu-Corp (Cert 0018) for \$250,000
0007	5/16/2001	226,000	\$4.99	Partially transferred to HDPP LLC (Cert 0030) for \$9975 per ton NOx and \$6300 per ton VOC
0018	2/7/2001	53,489	\$4.63	Partially sold (NOx) to Blythe Energy for \$247,345 (at \$9,250 per ton)
0025	7/10/2001	9,342	\$5.88	NOx credits sold to SoCalGas for \$54,885 (\$11,750 per ton)
0034	7/9/2001	300,930	\$6.83	Credits sold to City of Victorville for \$13,650 per ton NOx
0047	9/11/2003	350,000	\$6.50	Partially transferred to Caithness Blythe II LLC (350,000 pounds of NOx at \$13,000 per ton)
0052	7/2/2004	50,000	\$5.25	Partially transferred to Caithness Blythe II LLC (50,000 pounds of NOx at \$10,500 per ton)
0059	12/14/2010	34,000	\$5.00	Partially sold to Molycorp (17 tons NOx at \$10,000 per ton)
0078	4/15/2014	2,880	\$17.50	Partially sold \$35,000/ton Nox issued as 0095, remainder issued as 0098
0107	3/16/2018	594,000	\$0.00	Transferred to new owner, Panamint Valley Limestone in a package deal. \$100,000 for land & ERCs on Cert 112.
0120	2/20/2024	400	\$0.00	2/20/24 400 lbs Nox transferred to Cal Portland EKAPCD, remaining credits issued under MD0135

## MDAQMD ERC Sales Data for Particulate Matter, 10 Micron

Certificate Number	Sales Date	Qty Sold, Lbs/Year	Sales Price, per Pound	Use Reference
0005	2/5/2001	28,125	\$0.00	Partially transferred (all but SOx) to Execu-Corp (Cert 0018) for \$250,000
0012	12/21/2000	529,836	\$0.29	Credits sold to HDPP, LLC for \$153,570.99 or \$580 per ton PM10
0022	5/28/2001	2,580	\$2.50	Partially transferred to SoCalGas (Cert 0032) for \$5000 per ton VOC and PM10
0031	6/27/2005	27,461	\$2.60	Partially sold, all PM10 (13.73 tons) to Sagebrush Properties for \$5195 per ton
0033	9/20/2004	8,000	\$2.50	Partially sold four tons of PM10 to NWP for \$5000 per ton
0064	6/27/2005	154,155	\$2.60	Sold to Sagebrush Properties for \$5195 per ton
0077	12/8/2017	80,000	\$4.50	40 Tons sold to Western States Whoesale @ \$9,000/ton, balance issued under MD0140
0107	3/16/2018	106,000	\$0.00	Transferred to new owner, Panamint Valley Limestone in a package deal. \$100,000 for land & ERCs on Cert 112.
0110	7/17/2023	80,000	\$0.50	40 tons from MD0110 sold to DMI for \$1000 per ton for a total of \$40,000
0112	4/13/2023	50,000	\$4.50	25 tons PM10 sold to CEMEX \$9000/ton issued under MD0121 remainder issued to PVL under MD0122
0123	5/9/2023	6,000	\$4.50	3 tons PM10 sold to CEMEX for \$9000/TON, balance issued to SBC MD01124 and 3 tons PM10 to CEMEX under MD0125
0124	7/7/2023	2,000	\$4.50	1 ton from MD0124 sold to CEMEX and issued under MD0128 - MD0124 void, balance issued to SBC Investment under MD0127

## MDAQMD ERC Sales Data for Oxides of Sulfur (SOx)

	iicate nber	Sales Date	,	SOx Sales Price Per Lb	Use Reference
01	07	3/16/2018	422,000	\$0.00	Transferred to new owner, Panamint Valley Limestone in a package deal. \$100,000 for land & ERCs on Cert 112.
01	27	4/19/2024	2,000	\$5.00	1 ton from MD0127 sold to CalPortland and issued under MD0138, SBC balance issued under MD0136

## MDAQMD ERC Sales Data for Volatile Organic Compounds

Certificate Number	Sales Date	Qty Sold, Lbs/Year	Sales Price, per Pound	Description of Sales Transaction
0001	6/9/1998	1	\$12.00	Certificate Voided; see Certificates 2 and 3
0005	2/5/2001	6,269	\$0.00	Partially transferred (all but SOx) to Execu-Corp (Cert 0018) for \$250,000
0007	5/16/2001	296,000	\$3.15	Partially transferred to HDPP LLC (Cert 0030) for \$9975 per ton NOx and \$6300 per ton VOC
0022	5/28/2001	6,269	\$2.50	Partially transferred to SoCalGas (Cert 0032) for \$5000 per ton VOC and PM10
0049	12/15/2023	2,500	\$17.50	2500 LB/YEAR sold to Northrop Grumman, transferred to AVAQMD
0054	1/20/2004	41,323	\$2.80	Sold to MFG West for \$115,500 (\$5590 per ton for VOC)
0070	4/18/2006	10,164	\$3.15	Sold to MFG West for \$6300 per ton of VOC
0086	4/13/2013	55,307	\$0.04	Sold to Value Environmental for \$2,000 in total
0088	11/16/2020	1,000	\$12.50	
0091	4/15/2014	786	\$12.66	See Certificate 0037, partially sold as 0093 VOC \$25,316.43/ton, remainder issued as 0096
0092	4/15/2014	4	\$12.66	See Certificate 0037, partially sold as 0094 VOC \$25,316.43/ton, remainder issued as 0097
0102	12/15/2023	10,374	\$17.50	10,374 LB/YR sold to Northrop Grumman, transferred to AVAQMD
0107	3/16/2018	2,958	\$0.00	Transferred to new owner, Panamint Valley Limestone in a package deal. \$100,000 for land & ERCs on Cert 112.
0131	12/15/2023	17,126	\$17.50	17,126 LB/YR VOC to Northrop Grumman, transferred to AVAQMD
0133	4/19/2024	2,000	\$22.50	2000 LB/YEAR VOC to CalPortland, balance to MFG issued under MD0137